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Note : Four possible answers A, B, C and D to each question S given. The chog]ce which you
think is correct, fill that circle in front of that question with eror Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark™ hat ‘question.

Goods destroyed by fire are recorded as : T < e L-'/ Z,}xk....;lf Ju s d[} &= ji 1.1
Revenue loss uLaﬂdLJL (B) Capital 10:3\‘3,. uL-e»'ds'./ (A)
Revenue expenditure ;idUL (D) Capital expenditure »>7Ust~ (C)my

A deposit of Rs. 12000 in bank and 4 4../ /'.b,.( y 2.516 H_..u 15000/‘5 ¥l gf/ Cf d...') 12000 uf.ﬁ 2
then withdraw of Rs. 15000 from bank, will show :

Cash at bank Rs. 3000 / ¢/ 3000 St (B) Cash at bank Rs. 12000/ 5 12000 &W& m)
Bank overdraft Rs. 15000/3_” 15000 333G (D) Bank overdraft Rs. 30001:..» 3000 25 (C)

Error made in the preparation of trial balance e bl kr b e o}'h G LN L b( bl 'f{.; =¥ 3
is named : '

Casting error fko/.{,/’;y; (B) Posting érror i dwg,f? et (A)
Totaling error g,g"i:lﬁ: (D) Triakbalanceérror J\_M.w‘ﬂ.; =¥ (C)
To whom drawer endorse the bill : ve b 4 * d/ i u-'j...f"/ ¥ Silg
Creditors :"u:ﬂfu;’)‘ (D) Debtors fu}:}"‘ ©) Drawee J:JL_.-/ (B) Bank :’/\.f» (A)
Balance of suspense account is shown in : ‘ T uJ s e e Uﬂ/ 5
Profit and loss account Q::Juu?}é’ (B) Trading account J.,U/sz’ (A)
Capital account L,ﬂ:w;l. ~ (D) Balance sheet AU~ (C)
Cheques issued but not presentéd are called : V4 i wm s L L 2 L Pl 6
Dishonoured,chégues 2 > (B) Outstanding cheques -z ~b4# (A)
Cancelled cheques ..A:I"_;f" (D) Credited cheques ..gu}..:é/ (C)

After charging depregiation\@ 6% the fr,.:»] KJ r/ -<- &3, 23500 ;.ddu/[)/,;‘f)»!&é,);’lmﬁr/'ﬁé 6|7
book value of-furniture i$,Rs. 23500 D;eprecuatlon expenses will be :
Rs. 2010 / &5,2910 (B) Rs. 1410 / &2 1410 (A)
Rs. 1500 / &5 1500 (D) Rs. 1140 / &3 1140 (C)

A plant of Rs. 40,000 Zu’/\_/ »...fu Jl)!LSJ’J//LLJJ 4000 /Jbsiufu-.z_.u 39000 /ik ﬁ.u 40,000|g
purchased for Rs. 39000 and paid carriage on it Rs. 4000. Plant will be debited wﬂh

Rs. 40,000 / &+ 40,000 (B) Rs. 39000 / &3/ 39000 (A)
Rs. 44000 / &3 44000 (D) Rs. 43000 / &2 43000 (C)
A bill payable of Rs. 5000 retired : Gndnsbil Sl e s UMJH?-JJ 5000 LI/ |g
by drawee receiving 5% rebate. The amount paid will be :
Rs. 5000 / &55000 (B) Rs. 5250 / &2, 5250 (A)
Rs. 4750 / & 4750 (D) Rs. 250 / &3, 250 (C)
Net loss is deducted from : te bl gf (e S Wl J’JG 10

Liabilities =2 (D) Drawings c.ﬁb/. (C) Assets =it (B) Capital s (A)

( ihj"}s )
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Assets, expenses and losses normally shows : c g &S g L et s el b 1.4
’ Nominal account 2 (Lﬂ (B) Real account :la(d?? (A)
Debit balance (@ez’ (D) Credit balance l_.L'é_J_:é/ (©)
The art of recording business transactions in books is called : : z.,t‘Llf(c);Fi_)’G.w'/;ﬂvbﬂdJ@yKuﬁqu( 12
Journalizing (ﬂ){t}u (B) Recordmg st (A)
Accounting U/l (D) . i Book -keeping gﬁ,{_,l,; (C)
In three column cash book, cash and bank columns are: - ; ¥ u:‘b/ L UG »l gB JJ":( oJK e 13
Totaled < by’ (B) . Balanced < tLUELE (A) |
" Added < tLYT (D) Subtracted <L/ ¢ © ] ;
The liabilities of : Juro Hpbd’ﬁ -&-<-2, 90,000 .«L/S’-_ﬁl,ﬁ Ui 113 {Hbj&iprl“&it’)‘gj 14
a business are 1/3 of total assets. The owner equity is Rs. 90,000. What is the amount of habllmes o !
Rs. 180,000 / &3, 180,000 (B) Rs. 135000 / <_»#35000" (A)
Rs. 45000 / ¢_s, 45000 (D) Rs. 30,000,/ £ 786,000 (C)
An account is marked as dormant by bank if no : Eh.tglfﬁ‘y::df-'é:{)i’:uz")‘f{_ k)/ydle{vﬂ.ﬁ; 15
transaction is made in the account during :
Twelve months sbesl (D) Nine months sl ¢ (C) Sixmenths®lZ (B)  Three months ok (A)
A brief explanation of each entry written below the & bl lg( :’/ > los /“:f Jn fﬁ i_, L dj” d’f‘ /116
journal entry is called :
Particular /1y (D) Summary s#2{ (C) Detail Jf.“ar (B) Narration =2y (A)
Return inward by cash customer will bé recordedin : : f 7 L (570 J P ‘37 J;:- oS _{f 17
Cash payment journal -ﬁb!ﬁ,{t}y (8) Sale return journal d’e“m}:/'{t}» (A)
Cash receipt journal d!":ﬁ‘.{t)u (D) Purchase return journal O#[.'éf:{t}» (C)
Complete process of acgounting is called : e C‘U-:J/ Jf J’f ¥ d;b_/l,? 18
Filai accounts W (¥ (B) Accounting cycle )E Gl (A)
Classifying Jizon (D) Summarizing A1 (C)
Bank issué§ pay in slip to account holder in order to : B ¢/ S cJ_ VI Pl I s S 19
Repay loan :.,J.Lcé’b;f.}} (B) Withdraw cash 4’..&&_.?:5( (A)
To take loan _irﬁ?%,é/‘ (D) Deposit cash é.d:i.l/b]'f) (®))
Purchase of furniture for cash represents : = S 4647 B $ Eh g
No change in total assets uf. A?‘{'ﬁw;‘g;‘t‘lgf (B) Increase in total assets LI x u:«ig,:."b‘lgf (A)
Increase in assets and liability S ke iusle 2Bl (D) Decrease in total assets L{L‘-".’:«{gﬁb‘hf (C)
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PRINCIPLES OF ACCOUNTING (b2 f1) - Jizler/ - 224 K 35T T s
Paper : | (Essay Type) e (32080 T 24
Time Allowed : 2.30 hours L= 2230 0 =y
Maximum Marks : 80 80 : A
( PART -1 il .»)
10 2. Write short answers to any FIVE (5) questions : cal wyz L air (5) 6L =0 -2
(i) Define book keeping. _é/ ...g,J/J J Sbel (i)
(i) Explain in brief the matching concept. -é-': ooy [/,7 J 59 L = (i)
(iii) Name the elements present on equity side of an -éfté/tﬁxr{,’gu&]ﬁ&;wﬁu@ (iii)

accounting equation. .
80 A e 50,000 el ez s 80,000 el b2t/ ()
(iv) If assets Rs. 80,000 and liabilities Rs. 50,000, identify the amount of capital.
(v) Differentiate between bearer cheque and order cheque. -_.é 5!; 3 U _ng s} ..tho (v)

(vi) Discuss pay-in-slip. -é )" ¥ ek (vi)
(vii) Which book is called double column cash book? 1914 g ok u"'-"')d'f 2 I .f u/ (vii)
(viii) Why is it necessary to get bank statement from bank? ?q_d;sﬁu:ﬂ/ /e e 4 | .C} (viii)
10 3. Write short answers to any FIVE (5) questions : : 4 IR 4 /” L =¥ (5) ég c..Jf -3
(i) Differentiate between trade bill of exchange and cheque. . R @ - Lz Sk a;b’ (i)
(i) Explain the maturity in bill of exchange. _é_f =2 Los Lf f:zt‘ 0 J Sk (i)
(iii} Give two examples of fixed assets. =) dl"'/ » .f = EE Salse (i)
(iv) Define direct expenses. -_fd_'.r h.g'/:" d/ .:.,@!/’"i erliols (V)
(v) Describe deferred expenditure. _._»i; = los J -.'.itf']/:'f Jlﬂl (v)
(vi) Provide two examples of revenue expenditure. s uf-'t‘? 2 J =l J.L.JL (vi)
(vii) Narrate the term errors of principles. -;é = s J I J J_;‘i (vii)
(viii) Why suspense account is prepafed? fe bl Lf v ux.'/ = u)..g;f (viii)
( PART-II p» 2 )
Note : Attempt any THREE,questions. _é Y4 L ey ‘,f = Jf t2d

20 4. Journalize the following transactions in general :g,{ IOV RPN J’:Z d}-‘! ' U8, uij LZJ'E'/)) L ikt J‘ -4
journal of Ali Traders -
(i) Started busifiess by investing cash SNk I3, 20,000 tﬂ'-};lﬁz_» 85000 &~ (i)
Rs. 85000 and equipment Rs. 20,000.

(il)#PUtehased goods from Faisal for Rs. 20,000. w2 i 20000 B 2 i)
(iii) “8@ld goods for cash Rs. 15000. -J:'/ w3y ;Ifl J <1, 15000 d" (iii)
(iv) Paid cash Rs. 19500 to Faisal in full settiement - L,-/J,.{__J’}Ku!&/mu"*-f.;_m9500 LA (iv)
of their debt.
[ sas % o E % FL,.
(v) Purchased goods for cash Rs. 10,000 at ..uf;giﬂf__'.:.;b;djgﬁﬂ.:’ 10 ;'_(IJ‘J;_.M 10,000 &+ (V)

10% trade discount.
(vi) Sold goods on account to Yasir for Rs. 12000. _J.Z'/ w3yl les) ;"le J Z-3s 12000 é’ s b (Vi)

(vii) Received cash Rs. 11880 from Yasir in full _g;/u/gé.(j’}.ﬂfdﬂ:jfé,s; 11880 B L (Vi)
settlement of debt. ’

(viii) Ali withdrew cash _JLJL;JK.;LJFHJU;?!J.;_» 1000 &JFUE:‘(A?-U 1500 &"d..d‘ (viii)

Rs. 1500 and goods Rs. 1000 for personal use. -
(ix) Paid salary Rs. 5000. L L oF 455000 B (%)

(X) Rent of shop Rs. 10,000 is still payable. - bl ;ﬁl ,l/ ¥ b &~/ 10,000 é" (x)
( ék}n )
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5. From the following particulars, prepare ;d:':’:._l?\..@d“ﬁ;l}fg ¢2023 & 31 a..:flyl”J_ifpuJ.,.&/’/
bank reconciliation statement of Mr. Muneeb as on 31st March, 2023 :

0}

(i)

Balance as per cash book Rs. 11200. -&-2 11200 u“’f K L J-'-f (i)
Ldle s 4000 e SUBRUEL L S G s o 2023 31 G L2dle 16000 (i)
LG Lk 42023 BA B2

Cheques worth Rs. 6000 sent to bank for collection before March 31, 2023 but out
of these cheques worth Rs. 4000 were credited by the bank upto March 31, 2023.

(iii) Un-presented cheques upto March 31, 2023 were & 3000 &z 01/UZFE oF +2023 Bl31 (i)

(iv) Dividend credited by bank Rs. 400.

Rs. 3000. .
A etS L Cless 400 (iv)

(v) Debit side of cash book was under-cast by Rs. 800.- Wil fe &1 800 Sl ex 3t 7 W)

(vi)

Interest charged by bank Rs. 300. -b¥ s &2 300 i L (vi)

6. State with reasons whether the following items are } d_LjL Los d:L/ J_’j@u & “é U e =42

capital or revenue :

(i)

EM L =u ot ()

Payment of annual taxes.

(i) Cost of patent rights. -QG{J b o s7 u')"/b N (1))
(iii) Freight paid on purchase of goods. S Eon Lo B st § A i)

V)
(vi)
(vii)

(viii) Purchase of furniture for resale.

(iv) Payment of repair & maintenance of plant & machinery.-Lﬁb'J@leﬂf{m*&/{df'ﬁuuﬂg (iv)

Depreciation on equipment. &7 dir} & k| (V)
Expenditure replacement of worn out part of vehicle. N Z J;J)' J Uiy et & U2s€ (vi)

= AT o § Jpli (i)
-1‘.7. J E/ = tff J - &53/; aslay (Viii)

Cost of redecorating a cinema hall.

(ix) Paid heavy expenditure for _pgl;lJalg’}ldJié{ﬂ’dﬁﬁ);d: LS e Z wd 174 & (%)

advertisement campaignd@ipromote newly developed product.

(x) Paid to Sony electronics fer ~JL?:lsl:‘:)’f}gi&rg.’,Lf{u&/"{;bﬂé&dﬁ“ld?} (x)

previously purchasesmfiprinter for office use on account.

7. Rectify the following errors.; : ”é’ e f u;:.w ‘,,f R O%)
(i) Sales book has been under-cast Rs. 500. 0 s ﬁ/ wald d’ JS:/ & &1 500 bj" (i)
g d - ; !
(ii) Salest TarVeer Rs. 3000. Credited to his account -/ £ HWL Uheds 3 Se_ss 3000 &7 Giy
(i) TadbexBenses Rs. 190 posted  ~2 1 910 Bt s Sfe b AL &2 190 E7 i)
in'the ledger as Rs. 910. ,
(iv) Machinery bought Rs. 1000 -<—32 1000 d" gf Y 36 xS Py J o’/? (iv)
recorded as purchases. —
(V) Wages paid Rs. 1000 posted twice. _C; J J';' ) uqbl J U721 &1, 1000 d" (V)
(vi) Credit purchases was -gf VS s S U e AP 6“’ Sa7 Sosl d/ &3/ 2000 é" (vi)
not recorded in the books Rs. 2000. s
(vii) Rs. 500 received from Majid was -Lnﬂfuﬁ:wﬁdlu? a; = sl &2/ 500 é” (vii)
not posted to his account. .
(viii) Goods purchased from Bilal -z&:‘?'tf(;;)ufu:{mj?ujg Je Ll,-;_.i.f'ld’é..u 10,000 c“ (viii)
Rs. 10,000 omitted to enter in books.
(ix) Purchase book over-cast Rs. 5000. -« Lol ..,.D/ J BMx7 = -3, 5000 ff (ix)
(x) Bad debts of Rs. 1000 was not e S o S U d.‘.’.} o L &-/1000 é" (x)

recorded in the books.

(q’-dzlg)
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(3)
S ey Gsbos S hsle gl s L1 ess NS 20 30,000 Bl st -8

20 8. Abid sold goods to Haris for Rs. 30,050.
Abid drew a bill of exchange on Haris for this amount for four months. On due date the bill was
dishonoured. Pass journal entries in the books of Abid under the following circumstances :

(i) If Abid kept the bill with himself till due date.
(ii) If Abid discounted the bill with his banker ol (6 e o & 20 44 6L 4l A (i

@ 6 % per annum.

(iii) If Abid sent the bill to his bank for collection.
(iv) If Abid endorsed the bill to his creditor Adil. - /' & Ul ol#PF ot Se L 4l A (v

20 9. Prepare Trading, Profit and Loss account and balance sheet : : _éJgJ%uﬂ?»l:wKuuﬁmg Q29

St

L >

L B A Sl Ui S 3t Jss

| F b 0 Sk i sl N1 ()

Lo L L et ke b A il

Details / = ks¥ | DebitRs. | Details / =i’ | CreditRs.
Cash S 2000{ Sales  =33/| 185600
Opening stock nj. jgli'f.i 7000 | Creditor af:';gf ; 7800
Debtors S| 38400 Capital b | 66000
Drawings (£74 10260
Purchases U7 | 162400
Wages ui? ! 14400
Rent expenses @ﬁ,l)/ 10940
Furniture &) 8000
Bank ol 6000
Total iz | £ 250400 | Total olz| 259400

D Glrasaal

Adjustments :
(i) Closing stock Rs. 9000.
(i) Depreciation on furniture Rs. 800.
(iii) Un-paid wages Rs. 200.
(iv) Prepaidyrent Rs. 940.
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-4 9000 Ea il ()
-4/ 800 )r/.{é:) (i)

&3/ 200 = I Pla2ls (iii)

~&/ 940 e ()



